King Abdul Aziz University Fall 2014 Final Exam

Faculty of Sciences Calculus I- Math 110
Mathematics Department Allowed Time: 2 hours
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Q.1

1 f (x)=3+log, X, then f (x)=

(A) | gx+2 (B) | 3x2 (C) | px3 (D) | ox=3
Q-2 If Y :(2x3—secx )6,then y'=
(A) 6(2x3—secx )5(6x2+secx tanx) (B) 6(2x3—secx)7(6x2—secx tanx)
(© 6(2x3—secx)5 (D) 6(2x3—secx)5(6x2—secxtanx)
Q.3
If X :sin‘l(g} 0<x Sz, then SeCX =
6 2
(A) i (B) i (©) \/ﬁ (D) \/ﬁ
J11 J11 6 5
Q-4 | The absolute minimum value of f (x)=12x —3x°+2 in [0,3] is
(A) | -1 [(B) |1 [(©) | -2 (D) [ 2
Q-5 | The absolute maximum value of f (x)=12x —3x?+2 in [0,3] is
(A) |10 | (B) | 14 [ (©) |11 | (D) |13
Q.6 lim cos(2x2)—1:
x —0 5X
(A) 2 (B) | 1 (©) 1 (D) | 2
5 5 5 5
Q.7 3
r Y =Xx" ,then y'=
(A) xxg[1+3lnx] (B) xxs*2[1+lnx] () xx3*2[1+3lnx] (D) X2[1+3Inx]
8 _
xolT X —6X +5
(A) 1 (B) 1 < ) | -1 (D) |1
4
9 _
Q (sinx +cosx )2 =
(A) | 1—sin2x | (B) [ 1—cos2x | (©) | 1+sin2x | (D) | 1+c0s2x




Q.10

If =1In ,then y =
(A) 9 (B) 9 (©) 1 (D) 1
(X +5)(x +4) (X +5)(x +4) (X +5)(x +4) (X +5)(x +4)
Q.11 ¥ Y — _gtanx +|n(e_2X3),then yr:
(A) | 5% sec?x In5+6x 2 (B) | 5" gec?x In5—6x?
(€) | 5" sec?x —6x? (D) | 5" gec?x —6x 2
Q1214 y=(x-5)", then y" = Hint(n!=n(n-1)---3-2-1)
(A) (_1)n n(X _5)—(n+1) (B) -n I(X _5)—(n+1)
© | D)"nl(x —5) " (@) | (—)"nl(x -5)"*
Q-13 | The function f (X) =10g,(5—X) is continuous on
(A) (—oo,—5) (B) (5,00) (©) (—oo,5) (D) (—5,00)
Q.14 The equation of the line which passes through the point (1,4) and parallel to
theline 4y +2X +3=0is
(A) [2y+x—-7=0 [(B) |2y +Xx -5=0 |(€) | 2y +Xx -6=0 | (P) | 2y +X -9=0
Q.15 9—x 2
lim =
x—>6 X —3
(A) |Doesnotexist | (B) | -6 [(©) |0 [ (D) |6
Q.16 _
if f(x)=3x?,then Fx +hh) Fo)_
(A) | 3x +h (B) | 6x+3h (C) | 6x (D) | 6x +h?
Q-17 | The range of the function f (x)=3"-5 s
(A) | (5,) (B) (—oo,—5) (C) | (—0,5) (D) | (-5,)
Q.18 If y=—i3—2\/x_—5,then y'=
3X
(A)

1 ® )| 1 1 © | 1 1 (D) 1 1
- - -

1
x2 Jx x* Jx x*  2dx x* Ix




Q191 1¢ y =sin®(cosx?), then y'=

(A) |y =—24x %sin”(cosx %) (B) | y =24x2sin"(cosx *)-sin(x *)

(©) | y =—8sin"(cosx®)-sin(x®) | (P)| y =—24x2sin’(cosx *)cos(cosx *)sin(x *)

Q.20 | 1f f (x)=cSCx cOtX , then y'=

(A) | —csex (L+2csc?x) (B) | —cscx (—1+2csc?x)
(€©) | —csex (—1-2cse®x) (D) | csex (—1+2csc®x)
Q-21 | the critical numbers of the function f (X)=x°—-3x?+1 are

(A) |02 [ (B) [ 2,0 [(© |10 (D) |01
Q-22 | the function f (x)=Xx>—3x?+1 is increasing on

(A) (—oo,—Z)U(O,oo) (B) (—oo,O)U(Z,oo) (©) (—oo,—l)U(O,oo) (D) (—oo,O)U(l,oo)

Q-23 | The function f (x)=Xx>—3x?+1 is decreasing on

® | (-2,0) ® [ (0,2) © [ (-10) ® [ (01)
Q-24 | The function f (X)=x%—3x2+1 has a relative maximum point at

@ [(2-19) |® ] (01) © [ (1) ® [ (23)
Q-25 | the function f (X)=x%—3x2+1 has a relative minimum point at

@ [(2-19) |® ] (01) © [ (1) ® | (23)
Q-26 | The graph of f (X)=Xx>—3x?+1is concave upward on

@ (1) [®]@x) (O] 1e) [@ [0
Q-27 | The graph of f (x)=X3*—3x2+1is concave downward on

@ [(ed) [ @[(d) [ (o) @] (ed
Q-28 | The function f (X)=x*—3x?+1 has an inflection point at

(A) | (13 (B) | (- 1,1) © | (1-1) (D) | (-13)

2178 2'8




Q.29 1—x
The horizontal asymptote of f (X) = is
3X +1
[ ® ] _1 ©f _ 1 ® [ 1
Y773 3 3 Y73
Q.30 dy.
If y =—6cost, and x =2sint, then find g_y at t 2%.Hint( % = 3—;)
X dt
OEE (B) [3/3 © [ _3/3 @) [ 3
NE NE
Q.31 +3
The tangent line equation to the curve f (X)= n at the point (3,-6) is
(A) y-7x-15=0 | (B) | y +7x +15=0 |[(C) | y+7x-15=0 | (D) | y -3x +9=0
Q.32 | 1he values in (0,2) which makes f (X)=X3 —3x?+2X +5 satisfied Rolle's
Theorem on [0,2] are
A B Cc D
" —1i£ &) 11—4\/§ © liE ®) 1i£
3 6 6 3
Q.33
3z rad =
2
(A) | 120° (B) | 150° (© | 270° (D) | 210°
Q341 1 y :sin‘l(ex4), then y'=
(A) | gx3%*’ (B) | gx3%* (©) 4x %" (D) 4x %>
Ji—e* Vi—e? V1-e? 1-e*
Q-35 | the domainof f og , where f (x)=x?+3and g(X)=+vx -3 is
(A [ [3.) (B) [ (3,00) (© [ (=0,3] (0) [ R
Q-36 Iim( 25X % +X —5x):
(A) |0 (B) | o©O © 1 (D) 1




Q.37

If Y :tan‘l(XTJrlj, then y' =

(A) 2 (B) 2 (©) 2 (D) 2
X°+2X +5 X% +2X +5 X?—2X +5 X?—2X +5

Q38 |1 secx +yZ=xy +1, then y'=

(A) secxtanx —y |(B) | y +secxtanx |(€) | y +secx tanx | (D) |secx tanx —y

2y +X 2y —X X +2y X —2y

Q39 | 1¢ y =log,(x®+e*), then y' =

(A) 3x 2 +e” (B) | 3x2—e* [(O)] 3x24e* (D) 1
(x*+e*)In7 (x*+e*)In7 x e (x*+e*)In7

Q40| 1 y =\/(X2—28inx)3,then y'=

(A) | 3(x +cosx )v/x 2 +2sinx (B) | 3(x —cosx)vx2—2sinx

(o)) (D)

3(X +CoSX )X ? —2sinx

3(x —CcosX )vX 2 +2sinx




